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[image: image3.png]‘The input power (o this transformer is

Py =Vpl, cos 6=(1062 V)(11.1 A)cos 2.6
Py =(1062 V)(11.1 A)cos 43.6°=854 W

‘The output power from this transformer is
Py =Vl s cos 8=(200 V)(5 A)cos(36.87°) =800 W
Therefore, the transformer’s efficiency is
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Q-2) 
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[image: image1.png]‘The equivalent circuit of this transformer is shown below. (Since no particular equivalent circuit
was specified, we are using the approximate equivalent circuit referred to the primary side.)
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‘The secondary voltage and current are
£0°V = 20020° V
707
I="=Z-368T° A = 53687° A
R

‘The secondary voltage referred to the primary side is

Vy =V, =100£0° V.
‘The secondary current referred to the primary side is

L _joz-36870a
a

I

‘The primary circuit voltage is given by
V= Vg +1g (Ry+ jX,)
V, =100£0° V+(10£-36.87° A)(0.20 Q+ j0.750 Q) = 10622267 V.

The excitation current of this transformer is

_1062226°V  106222.6°V
*T R0 j80Q
I =1372-725° A

T=Io+ =035422.6°+1.328£-87.4°
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